R 245+ SRBKTETH109F &R
(Rt %6 2pEgs Frbf 1 g
mEE)FERT A% A0S

?3(53 /ﬁ’T 2 Pi'—k‘pi‘%i%t

PR C1I0E 27 4p(EHpe)t = 10 e
BOEL AR R R R E 4 1408 A7

KEFTERE
BT R 1 KEFTER
S109001 gl &= 10:00~10:20
R
LR AR % = o
S109001 Pl = P 10:20~10:30
My A S Lo 3 P 41407 R PR R L -

X;%.{i}«i«ég B:}%%/H"”—"bb’§4 ;ﬁ(E\;—»ﬁ )3@147 )_%‘_li)ll E}_ﬁp A *B_°




RE2R A FEERTFLHI09F &R
[ Bp R85 - FTREL L1 L
e p RER]) FFR '\?4 EXiE

?3(53 /ﬁ’T 2 m Pi'—k‘pi‘%i%t

PR 110 # 22 4p(A8e)t = 10 Fa
BB MR FFEETA08 ot E

K For R
et A ! i KE xR
$109002 R 10:30~10:50
B RREF
R A A R
$109002 k3 & 10:50~11:00

MFT A RS LD D AR 407 HF pEEm £ .

SR ERRE I EE LES LEEE 1€ 2GR 7 e




